EARAROBEEIERT — 2 N— IBISH —F

2018128158 (4) sEHLSH

Bl =255 10005T ¥5%R3%E (BS) UsE) =8 [l [immm) — | 5 o0 12w
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
— 0. ¥—74— 1. - . . DOBEAERL (3£i#)
i lglis| == — 3 &0 1(1_1)0 1-1 38.0[101.4| 6 as) ne
RN T—I—)b B:NCE—7F2030 NS T =5
= s P = 43 | dtRkR— 1:11.2 7-8 37.7]99.6 | 4 480 | RTRS (i)
®T T AIAZA] 56.0 (1 1/4) (+6) HimRockRacinghk—IF
R:ANKRATNG BiELATFATI BINE T — L
< . LANEEIN 1. - . . NEFRER (355)
NP AL s 4] B (17272) 14-12 |36.6| 99.8 | 7 (12132) :H\EELF'EH
o140 B:TAT7ZXAH Valllkse]
1) HZ o4 | HAER— 1:11.2 2-2 38.1| 99.6 | 8 518 | iEFEME (FR) B )
57.0 \F) ) (#%) HFNTAR—LT1 TR
L:7A7% BiLTaA-)b #FH B
s ¢ av_ > B. 7T FKv3 1. — . . AREEL (E#H
FH+H¥—N— 3> [B] € 7 57_0/ 7 1 (111)4 9-8 37.8| 97.8 | 10 g? = i/;’—p—:/wj‘
Lon7x BT FIrr J—=HrTp—L
s = 7 C. 74—0O 1. - . . AR (E#)
6l5/9|¥7—21> " 570" (17274) o KRR 33(32) EE,E%%&
RiFrvvH/ExEF BRI A HET7— L
S5 ¢ S 4 5 | WEEE 1:11.4 16-16 36.5| 98.0 | 12 508 | EPEMH (EH)
701277/ ="4 57.0 2¥) © ) In<SF 45Ty KR
Lihxrexy) BTUEANYT K7 7 — L
. o . REF R : H LSNP ES )
gl1l1|owsr—a—r 4 6 P 1(/1\1*;1 3-3 38.2| 97.9 | 14 :;4) EEJ:?&%
R:ZYrThA—F7—K—F B:5ysa-F AN
a1 N A C. A=) 1. - . . PR (£58)
9l5l10| ¥>FRUN—Y 4 o 1711t)5 5-5 38.1]96.9 | 2 (i?j) b
RFATAT v — BAKRK—I>T7— % Uk e
e = - : FiER 1. = . . N1 AN ES )
o2 N & P A £ 5 ;_0 1(111)7 14-14 | 37.1] 952 | 5 tg? ;L\unﬂ
R:TLLFFE1T4 BT v K-l HET7— L
43 | BOAIEM 1:11.9 12-11 37.8] 93.4 | 13 514 | TTRIEH ()
1 4|33 —=KT bk 56.0 (1 1/2) (a) | TIABEN
LECTARYY B:Ovi-—-%XF ILIL, YYET7—L
= o KLTRKA : = LR LINNE S
126l 5| ®X7F)L—Fz [B] R E;_ORE 171%:? 13-14  [37.7] 92.5 | 9 (:?:) mégg@ (=)
R:2g—1)rsO0-x B:TSATRET— =RI7—L4
=S, t 4 | BEES 1:12.0 9-10 38.4| 92.5 | 16 474 | BEBFIEL (EH)
13PN 7| >727>3 55.0 (NF) (t4) | R POBEXF T
LNNLVTSY BATArY Ry =Rl %S
9 9 HD#(E : - KIFE (@
1al8l16 Ox#KZ [B] > 5 57% 1.(122).3 5-5 38.9 90.5 | 11 (5_028) e (E#)
XD THANAN BNy atlLT HEI77—L4
e 4 3 | ZHE 1:12.4 11-12 [38.4| 89.0 | 3 476 | RIBZ (EH)
157113 AV —3I=7F> [B] 56.0 (1/2) (+12) | KFHEE ()
R nk—L B AXHI RN 1EE4%IS
8 o OB Hift— : - HigE (i
161714 Y¥=>> v >F ) [B] e E.OAIE % (13113/20) A Rl R (gg) f#g R
N4 0 BvvZCTAYAY SRS
@ 71 L
) 49.0-38.0
NA>Z24 L | 11.8-10.2-11.0-12.2-12.4-13.4
@ 11— S —EBlIEfL
1T=7r=
230—7F—
Gol=5r= 15,11(1,14) (10,16) (6,9) (7,8)-13,4,5(3,12)-2
43—+ — (x15,11) (1,14) (10,9,16) (6,8)7,4(3,13) (12,5)2
[ N3
H OB 15 1,640 714K 6-15 5,080 e E 3-8 5,610M JEHE 3-6-15 74,280H
8 B 15 520M Balld) 3,510 B = 6-15 16,600 B 15-6-3 432,840
6 600 3-6 3,560 B H 15-6 29,770M
3 5009

ABICOVWTRDTEEERROODE. TR LIV,



